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Show all your work!

1. (4pts) Solve the equation.

—7=11
B-7=ll e Ie~7= =l A 4
s 6
s lf Y= T ¢ 3
X= 6 x= %
2. (12pts) Solve the inequalities. Draw your solution and write it in interval form.
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5. (14pts) A ball is thrown upwards from the gr

ound with initial velocity 45 ft/sec.

a) Write the function that describes the height of the ball in feet ¢ seconds after release.
b) When does the ball reach its greatest height, and what is that height?

¢) When is the ball at height 25 feet?
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6. (14pts) A small orchard has ripening pears. At
of pears were picked and in storage. Every day aft
added to storage. Suppose the value of a pound o
cents per day after that.

a) Express the value of all the pears in storage as
the start of the selling season. What is the domai
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a function of the number of days x since
n of this function?

b) Sketch the graph of the function in order to find the maximum (no need for the graphing

calculator — vyou should already know what the

graph looks like). How many days after

the start of the selling season is the value of the pears in storage maximal and what is this

value?
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